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PRACTICE TEST-1
CLASS: Xl
SUBJECT: PHYSICS
PHYSICAL WORLD (CHAPTER-1)
UNITS & MEASUREMENT (CHAPTER-2)

What is Physics?
ifqert =R 82

Name the four fundamental forces in nature. Out of the four which one is (a)
strongest and (b) weakest?

Yhfd & W oA el & AH odqEYl 3 AR § -9 9 (a) G99 Yo 3R
(b) TeI9 o ®?

What are fundamental and derived units? Give some examples.

N

A AE 9 A= qEE 1 87 FP S )

Arrange astronomical unit, light year and parsec in decreasing order of their
magnitude.

GICId HEleh, YohTRT 99 el Y& hl URAT] &% =ed %A | fafEy)

Do A° and AU stand for the same unit of length?

T TEHM (A°) 9 T a5ih (AU) O & A A 87

Ifx=a+ bt+ ct2, where x is in metre and t in second, then what are the units
of a, b and c. Write their dimension formulae.

e x =a+bt+ct?, &l x M H qeN t YHUE § T, 99 a, b, ¢ F HEH HA
g7 3T fada g3 o fafew)

JustifyL+L=LandL-L=L.

L+L=LdeN L—L=L % GrsmEdl

What are the dimensional formulae of the following :

() pressure (ii) power (iii) density (iv) angle

= = foia 9 fafax .

()@ (i) o (i) SF@  (iv) o

The displacement of a progressive wave is represented by y = A sin (wt — kx),
where x is distance and t is time. Write the dimensional formula of (i) w and (i)
k.

s il W % fagem w1 @ @ Ry = A sin (wt— kx) T ® SRl x 5@
den t@9a 71 fe & Tl g fafae - () waen (i) k.



10.

11.

12.

Each side of a cube is measured to be 7.203m. What are the total surface
area and the volume of the cube appropriate significant figures?

T U1 HI YAF AW 7.203 W, 21 TR A TSA &R Al G S
iefeh 3Rl H A it

What is meant by parallax and parallactic angle? The moon is observed from
two diametrically opposite points A and B on the earth. The angle Q is
subtended at the moon by the two directions of observations is 1°54’. Given

the diameter of the earth to be 1.276 x 10’m, compute the distance of the
moon from the earth.

TR qel ofq HIU A B2 gedt & Q1 oma: fawda fagsti A9 B @ W=
1 GeT01 fofam T geror &t S feEnedi @ o=, S=m W sfald v Q &I A
1°54’ &1 Yoot w1 oI @ 1.276 x 107 m #1 YeeRt @ WA K1 U I
SAfeRe iU

a) What do you mean by the dimensions of a physical quantity? Explain
with the help of an example.

b) Derive the expression for centripetal force F acting on a particle of
mass m moving with velocity v in a circle of radius r. (Use the method
of dimensions).

a) TE sifass qidr w1 famet 9§ Sueh s e B2 ISl %l WEEdl 9
o |

by TH mEIEH & w0 & fow St van ¥ r B & g9 | wfa w1 W@ R,
A= 57a1 & fou =aes wenfya sifsay (forta fafar 1 v =)




PRACTICE TEST-2
CLASS: Xl
SUBJECT: PHYSICS
MOTION IN A STRAIGHT LINE (CHAPTER-3)
Define the term rest and motion.

fam-a1aeen o nfd e i uftwfia wifsa)

When does a cyclist appear to be stationary with respect to another moving
cyclist?

T WEfRe GRS SN WEfhel TaR 310 drdel fer we f@i < €2
Can a body have a constant speed and still have a varying velocity?

N Th 9% § TAE o W Tl gy uier-eiel o 8 Eehdl €7

A ball hits a wall with a velocity of 10 ms™ and rebounces with the same
velocity. What is the change in its velocity?

T e SR 9 10 mst & 9 ¥ THTHT FHE GREOT ® 9 ¥ 999 I 7
3T& o | fohraT 9feda smm?

A ball is thrown straight up. What is its velocity and acceleration at the top?

T T H WY SR e § e o #) FEd Swuad fag W SHw 9 o
@O F B?

The position co-ordinate of a particle is given by x = 6+18t+6t> (x in metres
and t in seconds). What is its velocity and acceleration att = 3 sec?

T F & fufq FREwE x = 6+18t+6t2 &1 (SET x WX H 9 t Ywve H ) t=
3 sec. T SHhT o F @O 1 B2

Two balls of different masses are thrown vertically upward with same initial
speed. Which one will rise to the greater height? Which one will pass through
the point of projection in their downward motion with the greater speed?

T STAT-3TN SHEEN & A ki 3ed fewn ® wum wfa @ ST S ©1 i 9
T S HEE qeh SN2 i E STer A6 o wHE weuel faeg W A an &
et T ?

Displacement time graphs of two bodies are shown in fig. (i). Which body
possesses greater velocity? What is the ratio of the two velocities? What type
of accelerations both the bodies have?

N

—
93]

Displacement

(@
v

Time —>
Fig.(i)



10.

11.

12.

< aggett 1 foraE-wa W s () o e T @) WA e s o 9
TfaHE B2 S asgetl % an W e ou 22 gHi o e wepfa s R 272
Acceleration-time graph of a moving object is shown in fig. (ii). Draw its

velocity-time graph and displacement-time graph corresponding the this type
of motion.

Acceleration

e —

Fig. i)

T TfaRiiel Seg 1 ©RO g9d T faa (i) °§ fRmmn wen @1 39 nfa % fen
AT-9HT 9 fIRm1-T9g UM% 99EY|

Establish the relation s = ut +%at2 graphically.

BEL] s:ut+%at2 1 TEF 1 TR § TAMA HifST)

The displacement of a particle (in metre) moving with x axis is given by :
x = 18t + 5t* . Calculate :

i) the instantaneous velocity at t = 2s

i) average velocity betweent=2s and t = 3s

iii) instantaneous acceleration at t = 5s.

Th x & H FARR e a&) Wl faemmm (e W) fem o R
x = 18t + 5t* UM HIT :

i) t=2s W ITHT AR I
iy  t=2sdA t=3s % WA IEG A
i)  t=5s 9 AwUEh =R

Define retardation. What is its unit? A bullet fired into a fixed target loses half
of its velocity after penetrating 3 cm. How much further will it penetrate before
coming to rest assuming that it forces constant resistance to motion?

HOMcTeh @01 bl TRWIG HIT| THHT F1 ALF ©7 T R @ W e
T el Wed ® 3 Ut uER qek SO S An @ e ¢ fauw sterwen # oA
q% I 3R fohas X oo SRl Sofeh o ToME 9fede 1 ergwe faum eraen
H T qh HOT|
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PRACTICE TEST-3
CLASS: Xl
SUBJECT: PHYSICS
VECTORS (CHAPTER-4)

In the following vector diagram with the relation between Izl, IE2 and |33.

Fa F

F3

Two forces of magnitude 3N and 4N respectively act on a body. Find the
maximum magnitude of the resultant of these forces.

What is the magnitude of the vector 2C — 3]+ J3k 2

If a girl runs once around a circular track with a radius of 65m at a speed of 2
m/s. What is her displacement?

If A, Band Care mutually | vectors. Then what is the value of 5\.(§+6)?
What is the angle between (7+]) and (f—])?

A force F is used to pull a body which is suspended from a string to one side
as shown in the diagram to the right. The body is in equilibrium. Draw a vector
diagram which represents all the forces acting on the body?

»F

body

A body of mass m is placed on frictionless inclined plane. Write the two
rectangular components of the block’s weight.

-~
-~
-
1
A
-

f\
\
+

Show that (i) for two complementary angles of projection of a projectile thrown
with the same velocity, the horizontal range is same, (ii) for what angle of
projection of a projectile is the range is maximum (iii) for what angle of
projection of a projectile, are the horizontal range and maximum height
attained by 2 are equal?



10. Two forces act over pulleys to support a block of wood as shown in the
diagram below:

Calculate :

i) The vertical component of each force acting on the object
i) The resultant vertical force acting on the object.

iii) The weight of the block.



10.

PRACTICE TEST-4
CLASS: Xl
SUBJECT: PHYSICS
LAWS OF MOTION

Dust particle comes out when we beat a blanket by stic. Why?

A tennis ball of mass ‘m’ strikes the massive wall with velocity ‘v’ and traces
the same path. Calculate the change in momentum.

Chinawares are wrapped in straw paper before packing. Why?

Show that of the force acting on a particle is zero, its momentum will remain
unchanged.

A retarding force is applied to stop a motor car. If the speed of the motor car is
doubled, how much more distance will it cover before stopping under the
same retarding force?

Two bodies of mass M and m are allowed to fall from the same height. If the
air resistance be same for each body, will the two bodies reach the earth
simultaneously.

A stone tried at the end of a string is whirled in a circle. When the string
breaks, the stone flies away tangentially? Why?

What provides the centripetal force to a car taking a turn on a level road?
The outer rail of railway track is generally raised, over the inner. Why?

Define the term coefficient of limiting friction between the surfaces. A body of
mass 10 kg is placed on an inclined plane of angle 30°. If the coefficient of

limiting friction is 1/+/3 . Find the forces required to just push the body up the
inclined plane. The force is being applied ||rI to the inclined plane.



PRACTICE TEST-5
CLASS: Xl
SUBJECT: PHYSICS
LAWS OF MOTION

A hunter has a given that car fire 50g bullets with a velocity of 150 ms™. A
60m kg tiger springs at him with a velocity of 10ms™. How many bullets must
be hunter fire into the tiger is order to keep him in track?

A disc of mass 10g is kept floating horizontally by throwing 10 marbels/s
against it from below. If the mass of each marbel is 5g. Calculate the velocity
with which the marbels are strinking the disc. Assume that marbels strike the
disc normally and rebound with the same speed downward.

A bend in a level road has a radius of 100m. Find the maximum speed which.
Car turning this bend may have without skidding, if the coefficient of friction
between the tyres and rod is 0.8.

Two bodies A and B each of mass M are connected together by a massless
spring. A force F acts on the mass B as shown in fig. At the instant shown, the
body A has an acceleration a what is the acceleration in B?

Two particles of masses m; & my in projectiie motion have velocities
v, and vV, respectively at time t = 0. They collide at time t,. Their velocities

becomes v; and v; at time 2t,. While still moving in air? Find the value of
(ml\_/)i & m2\7]2-)_(m1\71 & mzvz)

A block of wood of mass 3kg is resting on the surface of a rough inclined
surfaces, inclined at an angle Q as in fig.

i Name the force 1, 2, 3

. If us = 0.2 calculate the values of each three force.

2
3) @)




PRACTICE TEST-6
CLASS: Xl
SUBJECT: PHYSICS
UNIT : IV CHAPTER : WORK ENERGY AND POWER

Instructions:

A w0 N RE

o

10.

11.

12.
13.

14.

15.

All questions are compulsory.

Please given the explanation for the answers where applicable.

What is the work done by the fore of tension in the string of simple pendulum?
Which physical quantities are concerned in an elastic collision?

Friction is non-conservative. How?

A mass m collides with another mass 2m and sticks to it. What is the nature of
collision?

Draw the variation of P.E. stored in a string as a function of extension.
What is meant by mass energy equivalence? Discuss.

Derive an expression for the kinetic energy of a body of mass m moving with
velocity ‘v’ by calculus method.

Two springs A & B with constant KA and KB (KA>KB) are given. In which of
the spring more work is to be done, if (i) they are stretched by the same
amount (ii) the are stretched by same force.

By what factor the velocity of a body should be increased so that its kinetic
energy is increased by a factor of 9? Justify.

Prove that bodies of identical masses interchange their velocities after head-
on elastic collision.

A body of mass 4 kg initially at rest is subjected to force 16N. What is the
kinetic energy acquired by the body at the end of 10s?

State and prove work energy theorem.

A particle moves along x-axis from x=0 to x=5m under influence of force
F=7—2x+3x%. Find work done in process.

A shot travelling at rate 100 ms™ is just able to pierce plank 4m thick. What
velocity is required to able pierce plank 9cm thick?

A 10kg ball and a 20kg ball approaches each other with velocities 20 ms™
and 10 ms™ respectively. What are their velocities after collision of the
collision is perfectly elastic?



PRACTICE TEST-7
CLASS: Xl
SUBJECT: PHYSICS
MOTION OF SYSTEM OF PARTICLES AND RIGID BODY

(A) Very short answer questions

1.

Write two examples each for which centre of mass lies (i) inside (ii) outside
the body.

% % -3l S fafay e sermm e o # (i) 3SR (i) TR e B
Write two examples of cross product of two vectors.

T FHR P dFN PHE & q I3 feaf@n)

On what factors moment of inertia depends?

wieed Yol fepa-fora seant  fARk s 22
Write one example of conservation of angular momentum.
IV el TV 1 Teh 3L fordl|

Write two conditions in which a system is said to be in equilibrium.

3 vl i fafgn 99 e 9w aged ¥ w1 9|

(B) Short answer questions

6.

Define angular momentum. Explain the geometrical meaning of angular
momentum.

VT FAT T IRATT ST, FHIOT FHolT i AT HE i SAEAT hiTIU|
Derive a relation between angular momentum and moment of inertia.
HIUiT FAT T TS YH H Fay T |

Find the ratio of rotational kinetic energy and total energy of sphere which is
rolling without slipping.

T el i FOA IS Sl qe Fed il bl ST 0w F49S I8 foqr e
0 T 2

A ring, a disc and a sphere all of same mass and same radius roll down as
inclined plane from same height. Which of the three reaches the bottom (i)
earliest (ii) latest.

T 1, fem=r aa & Wen SAe smE a5 A €1 99F 81 9t T
TAF SOE 9 Th MG THde N qehE S € 3 9 hiA () TEued (i) Tl
I H S W uem




10.

In a park two boys were sitting on seesaw. One was heavier than other but
they balanced the seesaw and got highly confused and started argue. A
person sitting nearby slab explained the situation to them.

a) What are the values shown by the person?
b) What is the possible solution of situation?
C) What is the importance of torque?

TH U H q ASh T T&l a1l F (seesaw) R TS ¥ I Il H TH Tl
T W 9 o1 W S U g i gaferd T fern on iR st erafta o
IR TH-SW T olg ® < aoft 7@ § % 93 & Afw A I W Gqerd
JTOET 1 SRR kT TS =T Ky T

a)  STEHl g IR IUT A U?

b) U 3EEAT &1 HANId TA FT A7

c) & MUl I HE F 87

(C) Long answer questions

11.

12.

States theorem of parallel axis and perpendicular axis for moment of inertia of
a body. Determine moment of inertia of disc about tangential axis using these
theorem.

foRdl a%g o1 SIS MUl I FE & U TR G T GHI qAT e I
F1 gHT TAf@u)l 7o ST Fh Th fe&h &1 TS STYU 3T w9l @i
3787 @ Ufd: I &

a) Establish relation between torque and moment of inertia.

b) A car weighs 1800 kg. The distance between its front and back axles is
1.8m, its centre of gravity is 1.05m behind the front axle. Determine the
force exerted by the level ground on each front wheel and each back
wheel.

a) I YUl A TS ATl H HaY Tenfud &

b)  UH el 1 SAEH 1800 f.UMH 71 3T W 9 WD HI i & = w1
T 1.8 WX Bl TEH oA HR AW w0 Y 1.05 HX T WD A
0 HT AR BN YR A T Tk (e IS W GHAS SHIA g o
T d T AT |




PRACTICE TEST-8
CLASS: Xl
SUBJECT: PHYSICS
GRAVITATION (CHAPTER-8)

(A) Very short answer questions

1.

What is the relation between g and G?
gaen GH o Hey 72

There is no atmosphere at the surface of moon. Why?

T5Aael W agHSd él g1 7

On what factors oribtal velocity of satellite depends?
fordlt SUUE 1 weft = fohe sreenl o fasi st @2
Define gravitational potential. Write its Sl unit.

e fava &1 gR«mn g qen 91 S| " ot ot

Write characteristics of Geostationary orbit.

J-feeR T & erfo@eor fafau)

(B) Short answer questions

6.

10.

State Kepler’s three laws of planetary motion. Prove third law.

HYeR o Tl I A & o 1 fa@n g e s e a6

Obtain relation to show how the value of g changes with (i) depth (ii) altitude.
S gl i Tefud &0 S g ® Uiedd Hi (i) TR (i) S9E P @ B 9y
@ 2l

If the radius of earth is decreased by 1% keeping its mass constant. By what
% acceleration due to gravity charges?

afg gesit =Y B 2% s & W SR SHeRT SoAm ufierq fRen ST e
ol H fhad % gfeEdq gim?

L N . 3
A satellite is revolving in an orbit near to earth surface, show that pT* = Eﬁ

(where p = density of earth, T = time period of revolution).

TF IWE YA F AN AN ITh ToEE HA H YH W ¢ 39 fov fawd

pT? :%“, p =gl &1 T, T = SWE &1 3T

One day two friends Anita and Sunita went to a fair. They saw a giant wheel
on which some people were swinging. Some of them were screaming and
embrassed others setting on their seat strongly. They did not understand.




Next day, they narrate story to their teacher. Teacher explained the situation
in the class:

) What are the values shown by two friends and teacher?

i) Write two place where position of weightlessness is observed.

& 57 < it o T G U B ® T 98l S % §gd 9l M gel
@ T R F9 ol gt ® 9 30 ¥ $ faeen ® & @R =4 oo die
W o3 T Al H Y X Tehg o o1l F TR T THS Th| A A
S I8 el Tud ek i Farht| e 9 SHdl T e & 9t g=a Rl
HHSATA

i) eI qel qA e g efkia on i fafau)
iy 9% T SaRd SRl W ARG H1 T9d R S 2

(C) Long answer questions

11.

12.

a) Define gravitational potential energy. Derive an expression for it at the
surface of earth.

b) Explain, why one can jump higher on the surface of moon than that on
the earth.

a) Yo ffas wS @ aRemw ] e sHe faw geslt & ude W e
TenTfud |

b) Uk oAfR WE qol W Yol whi Hae § Afush U kg Wehdal € N7
|

a) What is escape velocity? Show that escape velocity of object is
independent of mass of object.

b) The escape velocity of projectile on the earth surface is Ve=11.2km s™*.
A body is projected out with thrice this speed. What is the speed of
body for away from the earth? Ignore the presence of sun and other
planets.

a) UaEE o @2 feEd f el 9w w1 qemed o aug % SeruH W
freft =t e

b) Y 1 HAE W TEH A B HE Ve=11.2km st Bl TF ¥ TH M
&1 A T AT @ %t S B 3@ 9% #1 gl 9 ogd e gt W
a1 fRa B I WA S fF 9 qen S MR 1 3W W HIE ST I
2|



PRACTICE TEST-9
CLASS: Xl
SUBJECT: PHYSICS
MECHANICAL PROPERTIES OF SOLIDS (CHAPTER-9)

(A) Very short answer questions

1.

Which is mere elastic steel or rubber? Explain.

et 9 W H A A Ty 8?7 FHEsd|
Define limit of elasticity of substance.

JoATEY 91 <kt aRfoa )
Draw stress-strain curve for elastomers.
TS (30Rm) & fau dfdee - fawfa 9% s

Define poisson’s ratio (o) related to elasticity.

TR ¥ el EEA & ST i IR

State Hooke’s law.

gk <1 TEm fafay)

(B) Short answer questions

6.

Define young’s modulus of material of wire. Deduce an expression for it.

fFdt R & e & faw 90 & weRe [one w1 aReifid w3 dun 39w fa
=Sk U |

Show that elastic energy density of stretched wire is %2 Yx(8x)? where (8x) =
longitudinal strain.

fearsy for fed foe g AR ) oI S U9 1 Y YX(5x)2 §H Bl R
Sl (5x) = e fasfa 21

A composite wire of uniform diameter 3.0mm consisting of a copper wire of
length 2.2m and a steel wire of length 1.6m stretches under a load by 0.7mm.
Calculate amount of loud applied (Ye, = 1.1 x 10™ Pa, Yol = 2.0 x 10* Pa)

T TEH AW % T HiEa aR, TN e 3.0 mm € 3R 9 1.6m HIW
qen 1.6m ©id ¥ 9@ T 2| ¥ W 9R @iehH ¥ 98 0.7mm = Sm 2l
39 W @ T R & T0AT FHJ|

Calculate the increase in energy of brass bar of length 0.2m and cross-

sectional area 2cm? when it is stretched by a load of 10kg weight. Young’s
modulus of brass = 1.0 x10* Pa.



10.

F fiaa 1 o fFEw i 0.2 W de ST FE H1 aFnd 2 ¥’ T,
Hl 10 TR 9R ¥ @9 1 W B I 3o § g d@ad i AN & | B Al
T YR oMk = 1.0 x10™ Pa.

One day Rohit was going to school in the way he saw a bridge. The bridge
was formed on | shaped girders. This girders had long depth. He did not
conclude. When he reached the school, he told about it to the other students
of the class. One of them explained him about it.

)] What are the values shown by Rohit and other student?

1)) Why are girders given | shape?

iii) Why depth is girder is more than breadth?

wF feq Ufed e o1 W ool T H IE T YA @0 98 YA | WA H M
F SIW T T A1 T MR H RqE IR oAt a8 e freed | T 1’
g1l Sd 9% A Ugdl A IHA THh! @l AUl K H SEI F® GHEA Hl| I
SEl H W T B A THR HRUT IY FHAAT

) Ufed qen 39 B g Wi on i fafaw

i) T I | GO T S S S

i) T T MEUE TEHT WISE @ S A Bl B

(C) Long answer questions

11.

12.

Draw stress-strain curve for a loaded wire. Show the following on the graph
(a) Hooke’s limit (b) elastic limit (c) yield point (d) breaking point (e) plastic
region. Explain the significance of plastic region and ultimate strength.

gfdac-faid IMF sl 39 WF W (a) gk HH (b) TR HA (c) Hiee fag
(d) 95 a5 (e) wNie® GER PN WRes & qe Aaraad fag @1
e aETsd|

Define bulk modulus and modulus of rigidity. Write mathematical expression
for three moduli.

Determine the volume contraction of a solid coppper cube 10cm on edge,
when subjected to a hydraulic pressure of 7.0x10° Pa.

3T YATE Uk 1 S@al Uk i IR fa@l| 59 Tomenl & fog i
o fafEu)

10 9 91 & 29 HIW & o9 & I 9 fagped I U 9K 39 1 W
7.0x10° Pa T & ST STl 2




PRACTICE TEST-10
CLASS: Xl
SUBJECT: PHYSICS
KINETIC THEORY OF GASES (CHAPTER-13)

Instruction:

Question 1 to 5 very short answer type
Question 6 to 11 short answer type
Question 12 long answer type.

Arrange average speed, root mean square speed and most probable speed in
ascending order.

Sfa =re, o W got =i, 9l stfushad geaifad =i i sed % § @)

One which factors does the average K.E. of gas molecules depends : Nature
of the gas, temperature, volume?

gl & sreel &1 SirEd A el fehA-fed del W AR @ @ ;T oW

AonlX, dlUHIA, SHl4d-

Whichistrue : T; > T, o0r T; < T,?
FN AT T Ty > T ST, < To?

........... --- (ideal behaviour of gas)

> X
P—

What is Boltzmann’s constant? Give its value.
Steesar feeish @1 §2 $HeRT AM «ar|

A liquid is frozen at absolute zero of temperature what happens to its
molecular motion?

Teh WA USIY I IHh AIHM & I UM W FHE T Al 3T 0[S
1 A1 F B2

Show that the average K.E. of a gas molecule is directly proportional to the
absolute temperature of the gas.

fag wifsy fordt T & sroel =t oiiga TSt S, SU® adfas qOdH &
e T et 2




10.

11.

12.

Derive the expression for mean free path of a gas molecule.
ot ¥ stupstt & faw wem gaa wy & forw g Tenfuq Fifs)

Discuss the kinetic interpretation of temperature. Hence define absolute zero
of temperature.

qT9 i e19] TIfder S @ B2 A % I fue it aienfia st

Although the velocity of air molecules is nearly 0.5 kms™, yet the smell of
scent spreads at a much slower rate why?

T F AU HT WA AW 0.5 kms ™ Bt T R off fRE 3 # gy =g
-+ et 8 A

Calculate the temperature at which r.m.s. velocity of gas molecules is double
its value at 27°C, pressure of the gas remaining the same.

o€ QO T BT T W fRE W) o% erupe Wt o wier =i S'ent 27°C
% UHME H1 O o A B @1 S g TR el

When a molecule (or an elastic ball) hits a (massive) wall, it rebounds with the
same speed. When a ball hits a massive bat held firmly, the same thing
happens. However, when the bat is moving towards the ball, the ball
rebounds with a different speed. Does the ball move faster or slower?

S HIE ] (A YRy g) fRE (W) deR W ehuar € @ TR & weE
78 3 O ¥ famda faen # 9w dled #) W FE R gedrgEs uwe T
O dee W TR F, @R T @ SRR ?) qenfa, S AT oI iR e g
Tl W THA € Al 98 fu = § aw ddledt 21 39 fef | Wt a1 =@
STULTHA T Bl © AT ATR?

Derive the expression for pressure exerted by an ideal gas using kinetic
theory of gases. Hence define r.m.s. velocity.

3] fa & fagia w1 v w T eyl fm % srpet & g oM s@ &
fau 3 onfyq =INT 9 ol A1ed o =1 i 9Reya St




PRACTICE TEST-11
CLASS: Xl
SUBJECT: PHYSICS
OSCILLATIONS

What is the relation between force constant and length of the spring.
frd A & T o SHS] oS o o gere B

The body of a bus begins to rattle sometimes, when the bus picks up a certain
speed.

99 H qE [ We ¥ KW A T w9 F uw ffewd 1fd g e oot ®
17

The bob of a vibrating pendulum is made of ice. How will ‘T’ change when ice
starts melting?

Th WA Ao S Tielh ot T S 8RN ®1 R # W R S 9%
foeerll @ IWeh STaaehlcl W - Yo 42?2

What are harmonic functions?
TRHEIE Hod #1 B 67

A girl is swinging in the sitting position. How will the period of the swing
change if she stands up?

TF ACH! 931 ST W PA W A W 7| SHE I & Gd HIA W
9919 TS A P W GE B W @2
Show that x(t) = sin wt + cos 2wt + sin 4wt is periodic function.

X(t) = sin wt + cos 2wt + sin 4wt ®we &1 fag ifse f& o emgfa wifa =t
frefta =vean 21

Show that if a particle is moving in S.H.M., its velocity at a distance ? of its

amplitude from the central position is half its velocity in central position.

% TH HU WA AGd M I o F W@ E al fog Fife Suw ume, S«

%?A(W)ﬁﬁaﬁmﬁﬁwﬁwqwﬁuﬁmﬁwﬁwﬁ
2t 2

A spring of force constant 800 Nm™ has on extension of 5cm. What is the
work done in increasing the extension from 5 cm to 15 cm?

Teh AT T FeRid 800Nm™ & 39d w1 fa=mE §1 28 %ar &l 5ecm ¥ 12cm
e o fohaT ™ wE BAm?




10.

11.

12.

In this figure trolley is displace by 2.0 cm from mean position and released
than find time period of oscillation.

0. =

SR o °§ T el w2 I @ fazenfua fEa wn @ (WA ) SR ®iE M0
A 3Teh I HT TG I FAT BAT?

. . . d*x o
A simple harmonic motion is represented by ?Jrax =0. What is its time

period?

2
Th WA 3TEd T 3%+ax:0§mwh1wéa‘twana¢@ﬁww
grm?

A simple harmonic motion has an amplitude ‘A’ and time period ‘T’. What is
the time taken to travel from x = A to x = A/2?

Toh W A T i A A’ S 3Ted e TR SH A W x= AW x = A2
Waﬁﬁ rOhCI"ll g A7

What is a simple pendulum? Show that motion executed by the bob of the
pendulum is S.H.M. Derive on expression for its time period.

Teh T oAloleh 1 B 27 I8 g HISU el dieis & Ticieh 1 aioid aYe
T T I S| o 3T A HA & forg g Trfua Hifs)




PRACTICE TEST-12
CLASS: Xl
SUBJECT: PHYSICS
WAVES (CHAPTER-15)

Instruction:

Question 1 to 5 very short answer type
Question 6 to 11 short answer type

Question 12 long answer type.

When the wire of a sonometer is plucked, what is the nature of the waves in
(1) string (i) in air?

Sa fordl GiFHiet &1 dR Sl Skl SMaT € dl 3T dR & g § foh9 YR <kl
T I TR =27

What is the minimum distance between two parts in a wave having a phase
difference 2n?

fret T & J fagei & = & 30 . TAN? A ST o &1 wewl Fw
1 AR 21 B

Name two instruments based on superposition of waves.
Y T I % A9 Fql S A h AR & 9GS 812

Two sound waves produce 10 beats in 5 seconds. By how much do their
frequencies differ?

q waft il 10 fowag 5 e o hedl @ ol St Mg | S ST B2

The frequency of the fundamental note of a closed organ pipe and that of
open organ pipe are the same. What is the ratio of their lengths?

frdl ol (3 ) TEY 9 T WE ¥ 98 IR &I T UM HI ST
T B, T ITh! aFETRal ol STIUI I BRM?

Give any two differences between progressive waves and stationary waves.
T TR S A T A FE AR FA
Discuss the effect of temperature on the velocity of sound in gases.

e T T T W S W AOHE W S U Ul ¢ T it

A bat emits ultrasonic sound of frequency 100 kHz in air. If this sound meets a
water surface, what is the wavelength of (i) the reflected sound (ii) the
transmitted sound? Given speed of sound in air = 340 ms™ and in water =
1486 ms™.



10.

11.

12.

T IWIRE 100KHZ i TU%ed waf Sc= hidl 81 9% € e Il i Hae
¥ THT € A qudfaa e g ol @ TeRA arell safq b1 awehd @ g

g H eaft &1 9 = 340 ms™
gt § eafdl 1 e = 1486 ms™

y (x,t) = 3.0 sin (36t + 0.018 x + ©/4) is a transverse wave in a string. Where X,
y are in cm and t in seconds.
I. Is this a trravelling or a stationary wave?

il. What are its amplitude and frequency?

fordl SR W i3 TR UM a1 &1 90 y(x,1)=3.0 sin (36t+0.018 x+n/4)
SN fohe ST 21 ¥l x qen y S | den t Yhs o

. FI TS TN qUT § STefe STOE?
i, THRT (AW qUl e 82

A policeman on duty detects a drop of 15% in the pitch on the horn of motor
car as it crosses him. If the velocity of sound is 330 ms™, calculate the speed
of the car.

& fIUEl T W 9% Heg™ wid ® fF Uk #R % e & omghy H 15%
HH ot T W 98 HR Y HE w21 A% st A fd 330 mstet @ #R
EIRICESICEETIE Iy

A turning fork of unknown frequency gives 4 beats with a turning fork of
frequency 310 Hz. It gives the same number of beats on filing. Find the
unknown frequency.

T A g ot WA gfarur feelt 310 Hz g ael @A i &
e 4 foead <1 B1 SR BW TH SN Mg Al Wi gfass w1 fwferm e
T off 9 4 fowa IO R 1 39 ORI AR At Wi gfade &1 g 3.
hifsTU)

What is Doppler Effect in sound? Obtain an expression for the observed
frequency of sound produced by a source when both observer and source are
in motion and medium is at rest. Give an example of the above case around
you.

st oW w1 Sfer q9E #4182 st # ergfa o ufads & fau g9 wenfua
ST & Yerh qe ©id <A Taviter 81 i wegH fer @ 9 39 YR Wi
ST Rl his 3BT S|




